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Please make sure that the printed pages in this question paper are 8 in number and
it contains 19 questions. |

o FAE F GIH B RT T B T F a7 gweyow # JETS WG
The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.,

« PV T F I RGT JE F 7 VBT, ST W #E T
Before beginning to answer a question, its Serial Number must be written.

« FUgRTH % AT 7 @l T/ T T 8
Don't leave blank page/ pages in your answer-book.

o TR & GffET @E o e 7 el aw Srmagar & fd ot fer gar 7
Fe)
Except answer-book, no extra sheet will be given, Write to the pomt and do npf
strike the written answer.

. ST G B Fo T 7T ARG BT B & T mEw 7 o g o T
Frd iy dafres st & gt o0 Pl AT 9 7
Candidates must write their Roll No. on the question paper. Except Rell No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

‘ Wwam%}&g&a@gﬁﬁaﬁﬁﬁ?%ﬂwwgzﬁfﬁﬁg“mimm
Ty & 3 o ey e @ AT A

Before answering the questions, ensure rhat yﬂu have been supplied the correct and
Cmplete question paper, no claim in this megard, witt pe entertained after

—dmination.
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i) &f g7 i &

il gRF 7 & el o 56 8 Ry W 8 .

i) T G711 # W (-xvi) FGE ged § e mr & 9% W;;F{;’g :’}’7 & n5y
i) & (i) 7% qgRFT W7 & yIE T @ kg R T AT @
fae g & i w9 (i) & (xvi) ﬁﬁaﬁwvﬁam%ﬂ?’f% 5

i) w7 GET2 A8 7% oY FEIeE g & i e e 2 9 A e

v T TR 9 716 7F s W 8 o g8 5T 4 @@7"”"‘73’

) T FE AT R19 7% ayees w7 & B g 9T 6 o 7 E

i T S T F e ge awe

General Instructions :

(il All questions are compulsory,

() Marks for questions are indicated against each.

() Question No. 1 is divided into sixteen (i-xvi) objective type questions. Eqch
question carries 1 mark. From question (i) to (viii) are multiple choice type
questions. One correct option has to be chosen out of four optiosrn in each
Question. While questions (ix) to (xvi) are of true and false type questions.

(vl Question Nos. 2 to 8 are very short answer type questions carrying 2 marks
each.

fv] Question Nos. 9 to 16 are short answer typé questions carrying 4 marks
each

(vi) Question Nos. 17 io 19 are long answer type questions carrying 6 marks
each.

(viij Internal choice is available in all long answer type guestions.

(s )
(Objective Type Questions)
1. 78 Rww ghe .
Choose the correct alternatives
() OF e § O ge T e A & BN R 1
(A) Heaa
(B) % # ] e
(C) oTFfu
(D) g 99
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Which of the fol]owing is a merit of 4 good questionnaire ?
Difficulty
(B) Less number of questions

(A)

(C)

(D) Invalid question

€ ARG & TN ¥
(A) T T IR e g
(B) Iu-RiR omam R

Not in proper order

(C) FF Mg

(D) T } P 7

The types of bar diagrams are :
(A) Simple and multiple bar diagram -

(B) Subdivided rectangle diagram

(C)

(A)
(C)

Pie diagram

(D) None of these i _
i) g, WA M q A ¥ A e da ¢ 7
z=3M+2X

}—{=3M—2

2

(B) z=3M-2X
(D) & (B)7 (C)

What is the relation between mode, mean and median ?

(A)
(C)

W 7 H GH ¢

(A)

(C)

Coefficient of range is :

(A)

€

z=3M+2X

X=

CR =

CR =

CR =

CR =

3M -2
2

X-L

H+L

X-L

H+L

(B) z=3M-2X
(D) Both (B) and (C)

H-L
H+L

(D) T ¥ P T

B) CR=

H-L

(B) CR=—
H+L

(D) None of the above
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W WA Y qRedd o & R 3 iR A ¥ & wemar © 1
(A)  FOMHE (B) &
(C) (A) &1 (B) 2t (D) I9F g
When two variables change in the same direction, then such a correlation
1s called :
(A) Negative (B) Positive
(C) Both (A) & (B) (D) All of the above
nﬂmﬂﬁﬁwmwmﬂwwmmwmﬁ%m%w?1
&) 50% (B) 55%
(©) 60% (D) 65%

On the eve of independence, what percentage of national income was
obtained from agriculture ?

(A)  50% (B) 55%
(C) 60% D) 65%
(vi ﬁmaaﬁﬂ“mRTﬁqﬁﬁﬁmﬁh=ﬁﬁﬂawww§%é1? 1
(A) 1951 - (B) 1947
(C) 1940 ) (D) 1935,
In which year was Indian first Five Year Plan launched ?
(A) 1951 (B) 1947
(C) 1940 (D) 1935
(vidi) T & & & TS MR EE 3 w9 & A o & 7 1
(A} o (B) e
(C) &R (D) St
Which of the following is considered as socia] infrastructure ?
(A) Transport (B) Education

(C) Communication

AT FrAreT 9T 5 & O o :
State whether the following statements are true or false :

() oot s onfdfes femre @1 w o

Foreign trade is an engine of economic growth,
X T & R @ B o A e R ¥

Unequal distribution of Income is a reason of poverty in India.

(D) Energy
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(i), o, T SR T e ¢ aw)mvm ] 1

Land, Lnlm}.lrl Capital and Organization are four factors of p
(xii) e AT TN @ ooy

Education i1s a conscquence of hurman capitﬂl formation.
{\llllmﬁmﬂ@ﬁqﬂmmﬁaﬁqﬁﬁﬂ@m%%l

l.n o exclusive series, the upper limit of one class interval 1s the |
limit of next class interva] '

(xiv) TEEFY % WT I A 3
Coefficient of correlation is always positive.

o) TEEE B AT A T A B a o B A T B
Change in price level is measured b}lf index number,

(xvi) el AT el & F o Sk ¥

Seasonal unemployment is found in urban areas.

(sfRr-eregeres 59)

(Very Short Answer Type Questions)

e B &t ofr A

What is economic activity ?

st e fadias ofast 7 & oY Rl

Write down any twe differences between primary and secondary data.

e I &0 9 9ge R A E 7

What are methods to calculate correlation ?

SRR P G e 2

What is consumer price index number ?

roduction.

1

oOwer

o 8 @ o € 7 2

What is meant by Secondary Sector ?

P.T.O.
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-

11,

12,
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(6)

2312
5 Rrdl
arda 3 3 A @ Rl f@@ |
Write down any twe fealures of Indiny, AliT’ii‘l.llnlr{:‘
o B qE A @ P A ¥ 2 2
What are the main imports and €Xportg f Indig »
(Short Answer Type Quemjons)
\w@ﬁmﬁm%zsﬁmﬁﬁfaﬁ@ﬂw 4
———— G?]g]%l freor CEIEY .
> o 1o 1_?__}_?5___]_18 15]16!16]17}- 5 |
P 13 1615 ’15J16 |

The foliowing data is the age of 25 Students o

_ f Class XI of our school. Arrange
the data in the form of a frequency distributig

n: ht[ps:;.f’www.haryunalmard.cum
T 1

-_—

15 16 16!1:{, 18 |
| _ .

|
. 17 | 15 |
z T -
16 16 15 16| 15 | 1 15 | 16 |

m&mmﬁwm%?mg@mﬁﬂm%ﬁ%? 4,

What is meant by diagrammatic presentation of data ? What are its main
methods ?

P sliedt & T0a a W T e 4

AT<lish | 10 1 20 | 30 | 40 | 50 | 60 | 70
Pufd & den 15 | 18 | 25 | 30 | 16 | 10 9

——— .

Calculate range and coefficient of range from the given data :

-— —_—

~— Marks | 10 | _60 1 70 l
No. of Students | 15 o]0

q 4
A o Rt 1 el R %} g Qe & 7

' i s ic development ?
What is the role of human capital formation in economi p



(7)

13. 9Ra & R & A TH IO B vy g3,

Explain four main causes of unemployment in India.

14, oY HE B T T § 7

What is the importance of Infrastmcture 2

15. oty R & T B R 5t gy zee o T

Define the concept of sustainab]le development, write down its conditions.

16. W@ A 3 9 RE-AR GO B,

Make educational-wise comparison between India and China,

(Long Answer Type Questions)

(sareers )

17. frefafed oo &1 T9FR A st it

7 0-2 1 24| 46 | 6-8 |8-10
SIE I 2 14|16 | 8|10
Find out the arithmetic mean of the following distribution :
[
f Items 0-2 | 2-4 | 46 | 6-8 |8-10
‘ Frequency 2 4 6 8 10
g
OR
ffoiten omgfr R &t wiftgs s A -
o A& | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
ot g | 22 38 46 35 20
Find out median value of the following frequency distribution :
Wage Rate ¥ | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
No. of Workers 22 38 46 35 20
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19, mqm#@qﬂmﬁl
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T X Geadly dromol 4 QA ST F a5y, 6

Explain long term objectives of Five Year Plans in [ndia.

e
OR
TR ¥ ol P o ormel @ T Y

Describe the failures of economic Planning in india,

Explain in brief Globalization and Liberalization
AYqr
OR
LPG R % s ol & el i
Explain the positive impacts of the LPG policies,



